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A | 209, 20| 81| 104 48 56 4 3 1 35 42,342 | 46,966.5
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A 4 1 1 1 2 2 346 45.3

(3.8)
ik 5 2 3 2 1 0 2150 |  897.0
o+ 7 1 2 3 1 2 1 1 385 539.9

(1.D
o1 3 1 1 1 1 0 274.0
3T 2 2 1 1 0 1 114 2873
A 1 1 1 0 8094 | 283.0
24k 4 2 2 1 1 0 1 763.0
A7) 32 4 17 11 2 9 0 3] 1,163] 3,992.0
AR 26 2 13 11 5 6 0 4 832 | 4,873.0
) 12 2 10 5 5 0 41 2.875]| 5,719.0
=t 20 3 5 11 6 5 1 1 71 9,787 | 2,769.0
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HAL 5 2 3 2 1 0 2,150 | 897.0
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o+ 7 3 3 1 2 1 1 1543 541.0
<4> <6> (1.1)
BE] 7 3 3 1 1 0 274.0
Ee 2 2 1 1 0 1 114 287.3
<>
o 3 2 1 1 0 6,912 283.0
<47>
At 5 3 2 1 1 0 2 265 | 762.0
<>
A7) 32 2 15 14 2 12 1 1 4] 1,153 4,077.4
<3> (5.4)
7+ 26 1 13 11 4 7 1 1 41 1,767 | 4,876.0
<17> (3.0)
Z 12 2 10 1 9 0 3| 3547 5,719.0
<37>
= 20 2 6 11 5 6 1 1 6| 9,880 2,770.3
<136> (1.3)
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<78>

o+ 7 3 3 1 2 1 1 1 984 | 541.0
<4> <6> (1.1)

BE] 4 3 1 1 0 274.3

Ee 2 2 1 1 0 1 114 287.3
<1>

o 1 1 1 0 6,360 | 283.0
<49>

At 6 3 2 1 1 1 1 2 310 772.0
<4> (9.0)

A7) 33 2 15 14 2 12 2 1 1 6| 2454 41174
<6> <> (12.4)

] 26 1 12 11 4 7 2 1 1 5| 2,505 4,878.2
<18> <3> (5.2)

ZH 13 3 10 1 9 0 41 3517 | 5,722.0
<37>

=+ 20 1 7 11 5 6 1 1 6] 8303 3,052.3
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7+ 27 13 11 5 6 3 1 2 6| 2,692 4,872.5
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<9> <6> (10.2)

BE] 6 3 3 3 0 492.6

Ee 2 2 1 1 0 1 95| 287.3
<1>

o 1 1 1 0 8333 2825
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At 5 4 4 1 1 1 942 | 1,154.8
<20> (9.0)

A7) 36 19 14 3 11 3 2 1 6| 3,605 4,104.3
<11> <1> (14.3)

] 28 14 11 5 6 3 1 2 6| 2,281 4,872.5
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Z 14 1 3 10 6 4 0 4] 3548 5,722.9
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ok 8 1 3 2 1 4 3 1 3,333 897.6
<75> <5> (16.3)
- 9 2 3 1 2 4 3 1 21 2,070 540.0
<9> <4> (13.9)
QI 9 6 3 3 0 492.6
= 2 2 1 1 0 1 108 287.3
<1>
A 1 1 1 0 1| 7,100 282.5
<67>
=k 5 4 3 1 1 1 1 706 | 1,154.8
<90> <1> (9.0)
737] 36 16 15 3 12 5 4 1 81 3539 4,302.8
<7> <5> (19.3)
7+ 29 1 14 11 5 6 3 1 2 71 2,489 | 48725
<99> <> (8.2)
=5 14 4 10 6 4 0 5 4,114 | 5,722.9
<37>
=4 22 9 11 4 7 21 <2> 2 6| 7,651 3,052.2
<128> (10.4)
& 19 5 13 6 7 1| <1> 1 5 1,038 | 6,581.5
<16> (10.0)
et 11 6 4 3 1 1 1 3| 2949 | 1,227.6
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- 9 2 3 2 1 4 3 1 21 3,902 540.0

<13> <9> <4> (13.9)

BE 8 4 3 3 1 1 492.6

(5.6)

P 3 1 2 1 1 0 1 108 287.3
<1> <1>

A 1 1 1 0 1] 5,680 282.5
<65> <65>

Ak 5 4 4 1 1 2 938 | 1,154.8

<21> <20> <1> (9.0)

7371 37 15 16 3 13 6 6 8| 3,661 4,956.0

<13>| <3> <4> <6> (29.8)

AR 29 12 11 5 6 6 3 3 71 2559 48725

<24> | <2> <18> <4> (33.2)

= 14 4 10 6 4 0 5] 4,267 5,722.9
<34> <34>

= 23 9 11 7 4 3 1 2 6,483 | 3,052.2

<125> <123> <2> (21.6)

e 19 5 13 6 7 1 1 6| 1,161| 6,581.5

<14> <13> <1> (10.0)

A 10 2 6 5 1 2 1 1 3] 3215| 1,802.6

<33> <31> <2> (24.0)
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SH | 323 116| 128 65 63 79 57 22 61 {49,233 | 54,019.9

<620> | <27> <5625> <68> <361.9>

R 7 1 1 1 5 5 997 45.3

<4> <4> (16.6)

HAL 15 5 3 2 1 7 5 2 4,299 897.6

<11> | <3> <103> <5> (22.6)

o+ 11 3 3 2 1 5 4 1 2 951 540.0

<9>| <1> <4> <4> (14.3)

BE 9 4 4 4 1 1 1,503.2

(5.7)

P 3 2 1 1 1 1 1 388 287.3

<9> <1> <1> (0.7)

A 1 1 1 0 3,866 282.5
<64> <64>

LAk 5 4 3 1 1 1 1| 1,156 | 1,154.8

<23> <22> <l> (9.0)

7371 42 14 18 4 14 10 8 2 8| 3,661 6,412.0

<3l>| <6> <17> <8> (45.5)

AT 32 12 12 5 7 8 5 3 6| 2,755| 5,539.0

<32>| <6> <18> <8> (53.9)

=5 16 6 10 7 3 0 6| 4491 | 5723.0
<37> <37>

=4 26 12 11 7 4 3 1 2 8| 5833 3,052.3

<125> <123> <2> (21.5)

HE 22 8 13 6 7 1 1 6| 1,140| 6,581.7

<16> <11> <5> (1.0)

A 11 2 6 5 1 3 1 2 31 3579 1,662.0
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<7> <l> <6> <6>
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<l1> <4> <4> <7> <7>
QI 10 5 4 4 1 1 1,503.2 5.7
3T 3 2 1 1 1 1 1] 38| 2873 0.7
<> <l> <l> <l> <l>
oA 1 1 1 0 3,866 | 2825 0.0
<65> <B5> | <65>
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<35> <34> <34> <l> <1l>
En 27 12 12 7 5 3 1 2 8] 7.33813,325.0| 215
<103> <102> <10> <l> <1>
RE 22 8 13 5 8 1 1 6| 1,450(6,581.7| 10.0
<18> <l>(<12> | <12> <5H> <5H>
At 16 6 6 5 1 4 1 3 41 3570 1,662.0| 43.0
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AE 80 200 30 17 13 30 25 5 18| 8,873 (14,6488 | 104.2
<73> <42> | <42> <31> <31>
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e 8 1 1 0 1 6 6 0 0] 2266 453] 17.8
<7> <l>| <0> <0> <6> <6>
ik 23 6 3 2 1 14 14 0 21 4612] 8976| 258
<115> | <0> [<103> | <103> <12>| <12>
o 13 2 3 2 1 8 6 2 21 1,302 540.0] 194
<10> <0>| <3> <3> <7> <7>
N 13 7 4 0 4 2 0 2 0] 348[1,503.2 8.9
<l>| <l>| <0> <0> <0> <0>
3T 3 0 2 1 1 1 1 0 1] 311] 2873 0.7
<> <0> <l1> <1> <1> <1>
A 1 0 1 1 0 0 0 0 0] 3561 2825 -
<66> <0> | <66> <66> <0> <0>
At 7 0 4 4 0 3 3 0 1] 1,198 ] 1,1428 | 31.8
<&8> <0> <7> <7> <l> <l>
A7 44 10 19 6 13 15 11 4 9] 3522169263 782
<34> <0> [<19> <19> <15> <15>
Al 42 16 14 7 7 12 12 3 8] 3,132(5,998.0| 79.0
<39> <7>|<22> | <22> <10>| <10>
=5 20 7 10 7 3 3 1 2 71 34715723.0] 107
<36> <0> | <35> <35> <l> <1>
En 28 12 13 7 6 3 1 2 9| 7,147(36194| 215
<14> <0> <102> | <102> <2> <2>
RE 22 7 13 4 9 2 2 6| 207(6581.7] 20.6
<7> <1> <6> <6> <0>
R 15 5 6 6 0 4 1 3 4] 3463 1,662.0| 43.0
<37> <0> |<35> | <35> <> <>
AE 81 18] 31 17 14 32 27 5 19| 8,983 |15,350.6 | 106.6
<73> <0> | <42> <42> <31> <31>
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<7> <l>| <0> <0> <6> <6>

FAb 26 7 3 2 1 16 12 4 216,255 2,967 110
<58> <]>|<45> | <45> <12> | <12>

O+ 13 2 3 2 1 8 7 1 21 1,548] 1,786 55
<9> <0> <> <> <7> <7>

o1H 14 8 4 0 4 2 0 2 0l 237 4,969 29
<> <l1> <0> <0> <1> <1>

3T 3 0 2 1 1 1 1 0 1] 305 950 2
<> <0> <l1> <l1> <1> <1>

oA 1 0 1 1 0 0 0 0 1] 3475 934 0
<66> <0> | <66> <66> <0> <0>

24k 10 3 4 4 0 3 3 0 1] 1,138 ] 3,779 53
<9> <l1> <6> <6> <> <>

A7 47 12 18 6 12 16 12 4 9 3499 22,512 292
<21> <1> <8> <&8> <12> <12>

AR 47 21 14 7 7 13 13 0 8 3,256 | 19,844 262
<34> <®8> |<18> | <18> <8> <8&8>

=5 20 6 10 7 3 4 2 2 71 3241 18,918 37
<38> <0> | <35> <35> <3> <3>

=+ 30 14| 13 7 6 3 1 2 9| 7,781 11,962 71
<101> <1> [<96> | <96> <4> <4>

A& 23 7 14 5 9 2 0 2 6| 2141 21,757 68
<3> <0> <> <> <l> <l>

Ak 16 5 7 4 3 4 1 3 6| 3,119 12,836 132
<42> <0> |<41> | <41> <1> <1>

AE 84 200 31 17 14 33 28 5 20 110,484 | 50,745 356
<71> <9> | <41> <41> <28> <28>
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A | 417| 133| 140 67| 73| 144| 104| 40| 8253927 |195266 | 2,791
<HB> | <19> <> | <378> | <4> [<102> | <100> | <2>

s 9 1 1 1 7 7 0] 2,211 149 60
<7> <0> <7> <7>

AL 27 8 3 2 1 16 14 2 21 5,777 2,967 158
(B8) | <1>|<44>| <d44> <13>| <13>

o+ 13 2 3 2 1 8 7 1 41 1,921] 1,785 55
<9> <2> <2> <7> <7>

N 14 6 4 4 4 1 3 0| 303| 4,969 81
<> <l> <> <l> <l>

3T 3 2 1 1 1 1 1] 300 950 2
<> <l> <l> <l> <l>

o 1 1 1 0 0l 2,732 939 0
<49> <49> | <49> <0>

24k 11 4 4 4 3 3 21 1,182 ] 3,818 720
<10> <> <6> <6> <> <>

A7 49 13 18 5 13 18 11 7 10| 3,566 | 22,830 295
<20> <1> <6> <3> <3> | <13> <l1> <>

AR 49 19 14 8 6 16 13 3 9 3,562 19,867 352
<34> <4> |<19> | <19> <l1>| <l1>

) 19 3 11 8 3 5 3 2 71 3,468 | 19,635 33
<35> <32> <32> <3> <3>

=+ 30 14| 13 7 6 3 1 2 9] 9,359 | 10,924 71
<14> <102> | <102> <> <>

ZHE 23 8 13 2 11 2 2 71 435 21,757 63
<4>| <1>| <3> <3> <0>

At 18 7 7 5 2 4 2 2 6| 2,662 12,476 142

<43> <3> |<39> | <38> <1> <1> <1>

90 25 31 16 15 34 29 5 20| 9,692 | 50,745 342
<73> | <3> | <41>| <41> <29> | <29>
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4321 140 112] 71| 61] 150] 109| 41| 82[54379] 197475| 2,862
<B15> [<15> [<392> [<BR9> | <3> [<108> |<106> | <2> <0> <0> <0> <0>
9 1 1 0 1 7 7 0 0] 1,710 149 61
<8 | <0>| <I>| <0>| <1>| <7>| <7>| <0>| <0>| <0> <0>
29 8 3 3 0 18 15 3 2| 6,623 2,967 165
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15 7 4 0 4 4 1 3 0 247 4,969 81
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52 15 18 7 11 19 14 5 10| 4,791 22,586 305
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24 9 13 2 1 2 0 2 7 435 21,754 68
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